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[Time: 2:30 Hours] [ Marks:75]

Please check whether you have got the right question paper.

N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Draw neat diagrams wherever necessary.

Answer any two of the following.
a) Explain the Cournot’s model of oligopoly.
b) Discuss the dominant firm’s price leadership model.
c) Explain the Nash Equilibrium.
Answer any two of the following.
a) Explain the factor price determination under imperfect competition in commodity as well as
factor Market.
b) Discuss the modern theory of rent.
c) Explain the wage determination under bilateral monopoly.
Answer any two of the following.
a) Explain general equilibrium in production and consumption.
b) Explain Pareto optionality in context with marginal condition of efficiency in exchange.
c) Discuss the Kaldor — Hicks compensation criterion of social welfare.
Answer any two of the following.
a) Explain the process of search cost.
b) Explain the problem of adverse selection. How it can be overcame by market signaling?
c) Discuss the efficiency wage theory.
Write short notes on any three of the following.

a) Prisoner’s Dilemma.

b) Uncertainty theory of profit

c) Arrow impossibility Theorem
d) The problem of Moral Hazard.

e) Principal Agent problem.
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Please check whether you have got the right question paper.
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